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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

wore framarR o Ted e :

(a) Write a major disadvantage of
. Independent Regulatory Commission’.

‘o TEEE ST BT A SR ferd |

(b) Write a  major advantage of
decentralization.

Ree@Faer Go1 =1am R o 1
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(2)

{c) Which of the following concepts is
not associated with the ‘New Public
Management’?

( Catalytic Government/Centralized
Government/Competitive Govern-
ment )

{Choose the correct answer)
TE (IO YR TP AR -REIT 7'CS
wiYS 72 7

( SRS 54T/ (TR 5o/ Aferfier-
T 59 )
(um TSI AR Bfrear)

(d) What is Unity of Command’?
e[ @@ 72
(e} What is Line Agency?

IR ol 2

(f/ Which of the following concepts is not
related to New Public Administration’?

( Social equity/Relevance/Seniority
principle )

{Choose the correct answer)

T @O AR AP IR -2 TS
oo 74 ?

( AIfEE W/ﬂm\ﬁ?ﬁ?/m M )

(% Tewch! AR Sfrea)

20A/60 i ( Continued )



(3)

(g9 The Theory of Social and Economic
Organization is authored by

( Herbert Simon/Max Weber/
M. P. Follett )

(Choose the correct answer)

The Theory of Social and Economic
Organization aeefal o FfRe

( 24t oG/ (T STaC /<. 1. TCHD)

(o Teach! AR Bfersan)

(h) Who edited the book, Toward a New
Public Administration : The Minnowbrook
Perspective?

( Dwight Waldo/ W. F. Willowghby/
Frank Marini )

(Choose the correct answer)

Toward a New Public Administration :
The Minnowbrook Perspective =Y (I
SpEoel FaRe 2

(925 Tl /RS, W, TR /FRe Wk )

(= Saach R Tferean)

{i) Distinguish' between ‘Formal’ and
‘Informal’ delegation. '

P WF AP SRR AL
@qear
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(4)

() Write an advantage of ‘Public
Corporation’.

o) a1 R P

2. Answer the following questions : 2x5=10
o epPTYRE T fordt

{a) What is ‘Community-owned Government’
in the concept of New Public
Management?
oA TR -JIFIAA 4RO ST Sq 5
&2

(b) Write a brief note on ‘scope of Public
Administration’.
‘EE-PEE. RPRT SRS 9B 5 (R
Tt 1 '

(c) Write two merits of hierarchy.

e T 1 @ Fret |

(d) Write any two principles of ‘coordination’.

e’y R e qo1 A forsn o

fe) What is Technical Staff Agency? Write
one major function of Technical Staff

Agency.
FRREA T ¢ 2 FIRTA Smas (omdR
BT o4 IR fora | '
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(5)

3. Answer in brief (any four) : 5x4=20
vy g forar (R e wifon) -

(a) What is ‘Independent Regulatory
Commission’? What are its advantages?

“yog frEs s 2 e Ree 6 & 2

(b) Give a suitable definition of Public
Administration’. Briefly explain its
importance.

GRS -2 BT TR S oW 41 | TR
FFG SYLF I T4

() What is ‘Legal-Rational Authority’?
Explain.

cabe-eRe 3’ 2 3T w41 1

(d) Explain the main features of hierarchical
structure. '

wiarers 147 T4 LB 3¢ 1

fe} What is the necessity of span of control?
Find out the role of personality in span
of control.

faar Rt aamie 52 Fogr «fRite
e gier [ w11
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(6)

4. Answer the following questions : 10%x4=40
o PR Bed fop

(a) What is department? Why are
departments important in Public

Administration? Give reasons. 3+7=10
Rt 7 @Te-ermFe Koz 1 g2
e wodi |

Or / 731

What are the different kinds of the Chief
Executive? Discuss the qualities of the

Chief Executive, 4+6=10
T e R o a1 wern & &2
10 W“nﬁﬁiﬁ QTEE| SCEADH 7 |

(b} Discuss the Scientific Management
' Theory of Administration. What are its

drawbacks? 6+4=10
PR (IRF TEF] TGO Sl 41 |
TR Aoz & &2

Or / 7331

Discuss the importance of human
relations theory. What are the findings
of the Hawthorne = experiments of
Elton Mayo? : : 5+5=10

TR T OGT GFY SIS 901 G
'3 Hawthorne 3 -fAarEEfa
TR [ 97
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(7))

(c) What is Good Governance? What are its
main features? Discuss the importance

of ‘transparency’ in public administra-
tion. 2+2+6=10

g R WR oy @FEeRr &R
ER-2Pie  ¥20l’ (transparency)d 8$9
HICETSAl 41 |

Or/ 331

What is ‘politics-administration
dichotomy’? Discuss the evolution of
public administration as a discipline.
What is its present status? 2+6+2=10

- fB-Rems’ 9 Swwme ey
B IEAfe REFR @NRert el 341 |

TR ISYF T 92
(d) What is supervision? Discuss the
methods of supervision. 4+6=10
oRfea® % 7 *R@FR AR(STR ACAoT 7 |
' Or / 73

What is centralization? Write the
advantages of centralization with

suitable examples. 2+8=10
@R B2 @ IR RO %9111—
Wﬂiﬁml

* ok
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